

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Mt Diablo Unified School Dist 2326 BISSO LN CONCORD, CA 94520-4802 ACCOUNT NUMBER: 160770

CONTACT:

SALES REP INFORMATION:

Christy Freese christy.freese@mheducation.com (707) 772-7024

Section Summary		Value of All Materials	Free Materials	Product Subtotal
CA Reveal Math © 2026- Grade K (8 Year)		\$1,064,564.76	(\$432,278.76)	\$632,286.00
CA Reveal Math © 2026- Grade 1 (8 Year)		\$1,094,076.06	(\$461,790.06)	\$632,286.00
CA Reveal Math © 2026- Grade 2 (8 Year)		\$1,094,076.06	(\$461,790.06)	\$632,286.00
CA Reveal Math © 2026- Grade 3 (8 Year)		\$1,092,267.60	(\$459,981.60)	\$632,286.00
CA Reveal Math © 2026- Grade 4 (8 Year)		\$1,102,025.10	(\$459,981.60)	\$642,043.50
CA Reveal Math © 2026- Grade 5 (8 Year)		\$1,102,025.10	(\$459,981.60)	\$642,043.50
Barcoding		\$4,086.00	\$0.00	\$4,086.00
Professional Development		\$442,000.00	(\$355,000.00)	\$87,000.00
	PRODUCT TOTAL*	\$6,995,120.68	(\$3,090,803.68)	\$3,904,317.00
	ESTIMATED S&H**			\$0.00
	ESTIMATED TAX**			\$380,670.91
	GRAND TOTAL*			\$4,284,987.91

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

K-5 Coach/Curriculum Specialist Added NO CHARGE, \$172,000 Value
Math Manipulative Kits (K-8) - NOW NO CHARGE, total savings to the district, \$372,526.20
*These prices represent Early Adopter Savings available until August 15, 2025.
Early Adopter pricing equals a 14.5% discount on CA English and Spanish student bundles.
Total Early Adopter savings on this quote is \$646,584 before tax, and \$709,625.94 after tax.
Integration with ClassLink is already in place between Mt Diablo USD and McGraw Hill.
A deeper integration for Assignment Sync and Grade Passback with Google Classroom is available and could be set up during the summer. The cost would be \$0.

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Spanish Vocabulary Cards; Application Station Cards

Because learning changes everything."

	ISBN	Qty	Unit Price	Free Materials	Line Subtotai
CA Reveal Math © 2026- Grade K (8 Year)					
English Classrooms					
CA REVEAL MATH GRADE K STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-526790-2	2700	\$195.15	\$0.00	\$526,905.00
Includes: 2-Volume Student Consumable; Student Consumable Practice B	Book; 8-Year Student Dig	ital Center			
CA REVEAL MATH GK TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-495635-7	150	\$2,421.33	\$363,199.50	*Free Materials
Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Cen	ter; Assessment Resourc	e Book; Dif	ferentiation Reso	ource Book; Vocabulary C	ards; Application Station
Cards					
Cards	Eng	lish Classi	rooms Subtotal	\$363,199.50	\$526,905.00
	Eng	lish Class	rooms Subtotal	\$363,199.50	\$526,905.00
Spanish Classrooms CA REVEAL MATH GRADE K SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-533612-7	lish Class	rooms Subtotal	1	\$526,905.00 \$105,381.00
Spanish Classrooms CA REVEAL MATH GRADE K SPANISH STUDENT BUNDLE 8 YEAR	978-1-26-533612-7	450	\$234.18	\$0.00	I

	Spar	oms Subtotal:	\$34,630.56	\$105,381.00	
Manipulatives					
CA REVEAL MATH GRADE K MANIPULATIVE KIT	978-1-26-675985-7	130	\$264.99	\$34,448.70	*Free Materials
		Manipulat	tives Subtotal:	\$34,448.70	\$0.00
	CA Reveal Math @ 2026-	Grado K (8 V	(ear) Subtotal:	\$432 278 76	\$632 286 00

Includes: Two-Volume Spanish Print Teacher Editions; 8-Year Spanish Teacher Digital Center; Spanish Assessment Resource Book; Spanish Differentiation Resource Book;

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



Spanish Vocabulary Cards; Application Station Cards

Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA Reveal Math © 2026- Grade 1 (8 Year)					
English Classrooms					
CA REVEAL MATH GRADE 1 STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-521235-3	2700	\$195.15	\$0.00	\$526,905.00
Includes: 2-Volume Student Consumable; Student Consumable Practice	Book; 8-Year Student Digi	tal Center			
CA REVEAL MATH G1 TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-664132-9	150	\$2,421.33	\$363,199.50	*Free Materials
Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Cen Cards	ter; Assessment Resourc	e Book; Dif	ferentiation Reso	ource Book; Vocabulary C	ards; Application Station
	Eng	lish Classı	rooms Subtotal:	\$363,199.50	\$526,905.00
Spanish Classrooms					
CA REVEAL MATH GRADE 1 SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-492364-9	450	\$234.18	\$0.00	\$105,381.00
Includes: 2-Volume Spanish Student Consumable; Spanish Student Consumable;	sumable Practice Book; 8-	Year Span	ish Student Digita	al Center	
CA REVEAL MATH G1 SPANISH TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-641001-7	12	\$2,885.88	\$34,630.56	*Free Materials

	Spanish	\$34,630.56	\$105,381.00	
<u>Manipulatives</u>				
CA REVEAL MATH GRADES 1-2 MANIPULATIVE KIT	978-1-26-565721-5	130 \$492.00	\$63,960.00	*Free Materials
	N	Manipulatives Subtotal:	\$63,960.00	\$0.00
	CA Reveal Math © 2026- Gra	ide 1 (8 Year) Subtotal:	\$461,790.06	\$632,286.00

Includes: Two-Volume Spanish Print Teacher Editions; 8-Year Spanish Teacher Digital Center; Spanish Assessment Resource Book; Spanish Differentiation Resource Book;

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 04/17/2025 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:08/15/2025 QUOTE NUMBER: PAGE #: HNOE-04172025023158-001 ACCOUNT #: 160770



Product Description	ISBN	Qty	Unit Price	Free Materials	
CA Reveal Math © 2026- Grade 2 (8 Year)					
English Classrooms					
CA REVEAL MATH GRADE 2 STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-489201-3	2700	\$195.15	\$0.00	\$526,905.00
Includes: 2-Volume Student Consumable; Student Consumable Practice	Book; 8-Year Student Dig	gital Center			
CA REVEAL MATH G2 TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-589251-7	150	\$2,421.33	\$363,199.50	*Free Materials
Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Cen Cards	ter; Assessment Resour	ce Book; Di	fferentiation Reso	ource Book; Vocabulary C	ards; Application Station
	Eng	glish Class	rooms Subtotal:	\$363,199.50	
			Come Captetan	ψουσ, 155.00	\$526,905.00
Spanish Classrooms				φοσο, 133.50	\$526,905.00
CA REVEAL MATH GRADE 2 SPANISH STUDENT BUNDLE 8 YEAR	978-1-26-548522-1	450	\$234.18	\$0.00	\$526,905.00 \$105,381.00
Spanish Classrooms CA REVEAL MATH GRADE 2 SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION Includes: 2-Volume Spanish Student Consumable; Spanish Student Consumable;			\$234.18	\$0.00	I

Spanish Classrooms Subtotal: \$34 630.56	\$105 381 00
Spanish Vocabulary Cards; Application Station Cards	
includes: Two-volume Spanish Print Teacher Editions; 8-Year Spanish Teacher Digital Center; Spanish Assessment Resource Book; Spanish Dillerentiation	n Resource Book;

	Spai	lisii Ciassi	oonis Subtotal.	\$34,630.36	\$105,561.00
<u>Manipulatives</u>					
CA REVEAL MATH GRADES 1-2 MANIPULATIVE KIT	978-1-26-565721-5	130	\$492.00	\$63,960.00	*Free Materials
		Manipula	atives Subtotal:	\$63,960.00	\$0.00
	CA Povosi Math @ 2026-	Grado 2 (8	Voar) Subtotal:	\$461 790 06	\$632 286 00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal			
CA Reveal Math © 2026- Grade 3 (8 Year)								
English Classrooms								
CA REVEAL MATH GRADE 3 STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-510271-5	2700	\$195.15	\$0.00	\$526,905.00			
Includes: 2-Volume Student Consumable; Student Consumable Practice Book; 8-Year Student Digital Center								
CA REVEAL MATH G3 TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-549194-9	150	\$2,431.68	\$364,752.00	*Free Materials			
Includes: Two-Volume Print Teacher Editions: 8-Year Teacher Digital (Contar: Assessment Bassu	no Book: Di	ifferentiation Dec	nurse Beek Vesebulen C	`arda: Application Station			

Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Center; Assessment Resource Book; Differentiation Resource Book; Vocabulary Cards; Application Station Cards

	English Classrooms Subtotal:			\$364,752.00	\$526,905.00
Spanish Classrooms					
CA REVEAL MATH GRADE 3 SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-537202-6	450	\$234.18	\$0.00	\$105,381.00
Includes: 2-Volume Spanish Student Consumable; Spanish Student Cons	umable Practice Book; 8-	Year Spani	sh Student Digita	l Center	
CA REVEAL MATH G3 SPANISH TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-522708-1	12	\$2,898.30	\$34,779.60	*Free Materials

Includes: Two-Volume Spanish Print Teacher Editions; 8-Year Spanish Teacher Digital Center; Spanish Assessment Resource Book; Spanish Differentiation Resource Book; Spanish Vocabulary Cards; Application Station Cards

	Spa	oms Subtotal:	\$34,779.60	\$105,381.00	
<u>Manipulatives</u>					
CA REVEAL MATH GRADES 3-5 MANIPULATIVE KIT	978-1-26-591594-0	130	\$465.00	\$60,450.00	*Free Materials
		Manipulat	ives Subtotal:	\$60,450.00	\$0.00
	CA Reveal Math © 2026-	Grade 3 (8 Y	ear) Subtotal:	\$459.981.60	\$632,286.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



	CA Reveal Math © 2026- Grade 4 (8 Year)								
750	\$195.15	\$0.00	\$536,662.50						
Includes: 2-Volume Student Consumable; Student Consumable Practice Book; 8-Year Student Digital Center									
50 \$	52,431.68	\$364,752.00	*Free Materials						
en	nter	nter	nter						

Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Center; Assessment Resource Book; Differentiation Resource Book; Vocabulary Cards; Application Station Cards

	Engl	lish Classr	ooms Subtotal:	\$364,752.00	\$536,662.50
Spanish Classrooms					
CA REVEAL MATH GRADE 4 SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-576369-5	450	\$234.18	\$0.00	\$105,381.00
Includes: 2-Volume Spanish Student Consumable; Spanish Student Cons	umable Practice Book; 8-	Year Spani	sh Student Digita	l Center	
CA REVEAL MATH G4 SPANISH TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-621874-3	12	\$2,898.30	\$34,779.60	*Free Materials
Includes: Two-Volume Spanish Print Teacher Editions; 8-Year Spanish Te Spanish Vocabulary Cards; Application Station Cards	acher Digital Center; Spa	nish Asses	sment Resource	Book; Spanish Differentia	ation Resource Book;

	Spa	nish Classro	ooms Subtotal:	\$34,779.60	\$105,381.00
<u>Manipulatives</u>					
CA REVEAL MATH GRADES 3-5 MANIPULATIVE KIT	978-1-26-591594-0	130	\$465.00	\$60,450.00	*Free Materials
		Manipula	ntives Subtotal:	\$60,450.00	\$0.00
	CA Poyed Math @ 2026	Grade 4 (8	Voor) Subtotal:	\$450 081 60	\$642.043.50

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA Reveal Math © 2026- Grade 5 (8 Year)					
English Classrooms					
CA REVEAL MATH GRADE 5 STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-496768-1	2750	\$195.15	\$0.00	\$536,662.50
Includes: 2-Volume Student Consumable; Student Consumable Practice E	Book; 8-Year Student Di	gital Center			
CA REVEAL MATH G5 TEACHER RESOURCE PKG 8 YEAR SUBSCRIPTION	978-1-26-582585-0	150	\$2,431.68	\$364,752.00	*Free Materials
Includes: Two-Volume Print Teacher Editions; 8-Year Teacher Digital Cent Cards	er; Assessment Resour	ce Book; Di	fferentiation Reso	ource Book; Vocabulary C	ards; Application Station
	En	glish Class	rooms Subtotal	\$264.752.00	
			TOOMIO GUDIOIUM	\$364,752.00	\$536,662.50
Spanish Classrooms			Toomic Gubtotui	\$364,752.00	\$536,662.50
<u>Spanish Classrooms</u> CA REVEAL MATH GRADE 5 SPANISH STUDENT BUNDLE 8 YEAR SUBSCRIPTION	978-1-26-660456-0	450	\$234.18	\$0.00	\$536,662.50 \$105,381.00
CA REVEAL MATH GRADE 5 SPANISH STUDENT BUNDLE 8 YEAR			\$234.18	\$0.00	. ,

Includes: Two-Volume Spanish Print Teacher Editions; 8-Year Spanish Teacher Digital Center; Spanish Assessment Resource Book; Spanish Differentiation Resource Book; Spanish Vocabulary Cards; Application Station Cards

Spanish Classrooms Subtotal: \$34,779.60 \$105.381.00

	Spailis	II Classio	Jilis Subtotal.	\$34,779.00	\$105,361.00
<u>Manipulatives</u>					
CA REVEAL MATH GRADES 3-5 MANIPULATIVE KIT	978-1-26-591594-0	130	\$465.00	\$60,450.00	*Free Materials
		Manipulati	ives Subtotal:	\$60,450.00	\$0.00
	CA Reveal Math © 2026- Gr	rade 5 (8 Y	ear) Subtotal:	\$459,981.60	\$642,043.50

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Barcoding					
Teacher Edition Barcoding					
BAR CODING FEE	978-0-07-878069-1	1944	\$1.50	\$0.00	\$2,916.00
900 English Teachers, 72 Spanish Teachers, 2 Volumes per	Grade Level				
	Teacher E	dition Bar	coding Subtotal:	\$0.00	\$2,916.00
Manipulative Kit Barcoding					
BAR CODING FEE	978-0-07-878069-1	780	\$1.50	\$0.00	\$1,170.00
130 Manipulative Kits per Grade Level					
	Manipulat	ive Kit Bar	coding Subtotal:	\$0.00	\$1,170.00
		Bar	coding Subtotal:	\$0.00	\$4,086.00
Professional Development					
COACH/CURRICULUM SPECIALIST SUPPORT	978-1-26-519891-6	1	\$172,000.00	\$172,000.00	*Free Materials
PROFESSIONAL LEARNING ONSITE DAY K-5 MATHEMATICS	978-1-26-598838-8	48	\$3,500.00	\$168,000.00	*Free Materials
PROF LRN HALF-DAY ONLINE TRAINING 2 HOUR SESSION GRADES K-5 MATHEMATICS	978-1-26-626322-4	10	\$1,500.00	\$15,000.00	*Free Materials
PROFESSIONAL LEARNING ONSITE DAY K-5 MATHEMATICS	978-1-26-598838-8	12	\$3,500.00	\$0.00	\$42,000.00
PROF LRN HALF-DAY ONLINE TRAINING 2 HOUR SESSION GRADES K-5 MATHEMATICS	978-1-26-626322-4	30	\$1,500.00	\$0.00	\$45,000.00
	Profession	nal Develo	pment Subtotal:	\$355,000.00	\$87,000.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081



QUOTE PREPARED FOR:

Mt Diablo Unified School Dist 2326 BISSO LN CONCORD, CA 94520-4802 ACCOUNT NUMBER: 160770

CONTACT:

VALUE OF ALL MATERIALS	\$6,995,120.68
FREE MATERIALS	(\$3,090,803.68)
PRODUCT TOTAL*	\$3,904,317.00
ESTIMATED SHIPPING & HANDLING**	\$0.00
ESTIMATED TAX**	\$380,670.91
GRAND TOTAL	\$4,284,987.91

SUBSCRIPTION/DIGITAL CONTACT:

K-5 Coach/Curriculum Specialist Added NO CHARGE, \$172,000 Value
Math Manipulative Kits (K-8) - NOW NO CHARGE, total savings to the district, \$372,526.20
*These prices represent Early Adopter Savings available until August 15, 2025.
Early Adopter pricing equals a 14.5% discount on CA English and Spanish student bundles.
Total Early Adopter savings on this quote is \$646,584 before tax, and \$709,625.94 after tax.
Integration with ClassLink is already in place between Mt Diablo USD and McGraw Hill.
A deeper integration for Assignment Sync and Grade Passback with Google Classroom is available and could be set up during the summer. The cost would be \$0.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mheducation.com (or www.mheducation.com).

School Purchase Order Number:	
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.